24 0.435 °of tishe] 0.435 = x 2 SFA
I3 x = 0.435 = 0.4353535 - - -
7H= 4.353535--- O
(U= 435.353535---©
©-©@ & 5FH 990x = 431

gl

—~

~ x=(h
431 431
® 10x, 100x, % ® 10x, 1000x , %
1 10x, — 1 10x, —
® 100x, 10x, ?lg(l) @ 1000x, 10x , 900
® 10x, 100x , —



oS 5= oA 1 9] 77k o2 2 A2

@ 1.1 © 1.0i ® 1.01 ® 1.01

0 -0-©->0 Qo-0-©->06
®@®@-0-06 -0 ®Q->0©->0->6
e - 06 >0 - 06



3.

163712 = 476 g TrEsle 1 o] G227

D -1 ® -2 3 -3

@ -4



o], o8 2] 9] ZHe Falodat,

I

A5 n ol B4
(C1)7— (1)~ (12 4 (1) (12t

=

11



5. 43 =Aeh @], 1672 A S olg ko] w7

D A 2 A2 B A3 @ A4 B) AS



6. 3%=A, 20— B ), 482 A, BE ol§5te] kw7

D ARB? ® A3B 3 AB3 @ A2B (B) A3R?






8.

(=8x+4y) + (-2) =ax+ by &

D =2 ® -1 3 0

,a+b o 27

@ 1



ot
Bl

-2(x+2) < 3(x-2) oA
—2x+4<3x+6--- O
—2x-3x<6+4--- ©
-5x<10--- ©
LX<=-2--- @

e
=¥



=
54

bx+1<5x-29 a7t x>1< o, b O] 3L

® 0 3 1 @ 92

9

B 3



]_]_ o i =

=8| o I_ Q [[H o
8 — 7 %l
4x<a
_4 [e]
H XZ?)E]

, a

e}

_?_0]_0:1
ﬂ-_

1

v
e



17 A= 22 o,

9|

,ax—1>-2x+59

2

4x - 2
T3

7
=<
3

— HdJ =
T ReA Tx +

o gre?

a

2~
e

&

B -10

@ -8



4R FSHE 7122 B 9ol 0.F 2410 o] w25,
AZAAA &2 AZE ol goke] HES AR T st HES

1Rtk 5H, A% dkm 2 Aol A Zehrt & o)
L g3E ol galok 7

12 Ko fo
rr
fn)
>
N,
m\l

2 | ol

@ %km @ 1km ® %km @ gkm ® 2km



14. 540g° #e B 249 1070 & ¥AEY F&7F 10% ] A=l
Hoth BEE 20% o)A o R 517 Y 2= AT A" 2
HE o gom HAErp

@D 1070 @ 1270 3 1370 @ 1570 3 167



3x+2y=15 _
15. AguAA g a7t x=-1, y=b L a+bl

x+y=a



apg 4] =-2y+5
2x -5y =1

b o] &2 T3l

Eia=

b=

7] f1sll @& ©°ll ti st

e A= Aotoiet,



.

ul

.

ul









20.

5x9) TS W o] EA|A yAWL 307 HhE
y=ax+ b2 &, a+ b2 GLS ot}



21.

3001 o] Zo] Sof Q= 25
25 e HY7] A&sto] 21@33;
S,y o B2 (H0<x<75)

D 4 ® 12 G 48

@ 124

B 252



—a, y=3,2y+6=09 12 ZR<I
Fara o 27 (H, a>0)



23. x, y ol Hgh F dALAA 2x —ay = 1, 3x +2y = b ] IH=7}
o2 JH} ZES 0, a+ b 9] S Fotoiet

A
y\ 2z—ay=1
2_ -
|
|
: A
o/ 1 T
3z+2y=b



24. AAHAy=x+1,y=3x~-1Ly=2x+a 7}t HolA Thdriil &
o, a 9] & F5HH?

D -2 ® -1 ® 0 @ 1 B 2



s 1 el = =
25. ARy =-Jx+2 0] DRI x F, y FO R o] ol

HolE y = mx o 27} o] 52ttt o W, m ] gh27?

yl\
™ y=mzx
o) } T
y=—§x+2
3 2 1 1
® 3 @ : ® @ ®



